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Peak Gain vs Density (at T=300.00K)
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3) Ith = 1.5 mA 
ηd = (5.68 mW)/(10-1.5 mA) = 0.668 W/A 
also, ηd = (0.668 W/A)/(0.8 eV) = 0.80 photons/electron 

 

Light & Voltage vs Current
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5) Γ = 1.13 % = 0.0113 
ConfinementFactor[0,0] vs Current[0]
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10) 
2mA Frequency Response 

Frequency Response
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5mA Frequency Response 

Frequency Response
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10mA Frequency  Response 

Frequency Response
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11) hc/q/(0.79 eV) = 1569 nm 

Optical Spectrum (At Bias 7)
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Design Problem 
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αm = 22.9 cm-1 minimized the current needed to yield 2 mW of output power. 
 

(a) removed 
(b) for L = 500 μm, R = 0.318 


